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SECTION A (30 Marks)
‘,n)n'_th\.‘g
For cach of the nems (1) (xx), choose the correct AnsWer ame \

and write its letter in the box provided
yies space 1S known as

Any substance that has mass and vccuy

(1)
A energy B matlcr
' umiverse D nature
3 ! ) , ! slers o
(1) A set of techniques used by scientisis (o imveshigate a problem reie
A data interpretation B sowenhhw method,
C performing an expenment. D data presentabion
(1) A vermer caliper 1s used o measute
A distance of a car B dameter of a wire.
C  mass of a car D length of a table.
(v) A force which prevent a body to shde is called
A streiching force B restoring force.
C frictional force. D compressional force.
(v)  The ability of a body to float in a fluid is known as
A the law of up thrust. B the law of Archimedes.
(' the law of floatation. D floating,
(vi)  One of the following is the condition for a body to float in water,

A The mass of a floating body is greater than displaced water.
The density of the body must be less than the density of the fluid.

The up thrust due 1o the hiquid must be small than weight of body.

B
C
D The displaced water 15 less than the floating body.
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13 somchow apart

| together D moved so randomly

non th
diffusion B capllanty

! uriace lension 1) osimosis

Density and heght are tactors which allect pressure in

A sohd B sobd and hquid

C  hgqud 1) gas
X ) When a body 1s performing a work, 15 smd to have

A moment B encrgy

¢ momentum D work
(x1)  Which of the followmg unit could be used for kinetic energy?

\ Kg B N C J§ D NM.
(x11)  Matenals that allows only part of hight to pass through them are called

A transparent B translucent ¢ opaque. D newton.

(x111)  What term refers to the stationary accumulation ut'churgcs on object?

A Current electricity B Static electricity
(' Charging D Polanzation

(xiv)  The rate of flow of electrons in a material is called
A charging B potential difference,

€ electnic current D resistivity.
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Which of the tollowing matenals can magnetic ally be made strong {
A Nacke!l and Copper B Steel and Brass l

{  obalt and bron D Cobalt and Copper

e point where the force of gravity can be considered to act s called

A centre ol gravity B c¢entre ol mass

C centre of weight D equihbrium

I'he rate of change of veloaity of a body 15 known as

A umlorm speed B acceleration

¢ distance D displacement
Why the mechanical advantage 1s less than three in o single rope three pulleys
system”’

A Because the effort may van

B Due 1o load rose

C Because the upper pulley does not move.
DD Due to fnction on pulleys.

The product of mass of a body and uts acceleration is

A  Newton's second law of motion.

B Law of inertia.

' Newton's third law of motion.

D Momentum change,

A form of energy that can be persistently used without running out is said to be
A B

efficient.

B

renewable,

C  non-renewable. D effective
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' List B
List A | :
. A Knile
(1) ll‘u force used W UpCI.IIC Jd Mg |ll|h.
- B lLever
(n)  Anexample of 3 class lever

I " Inchned planes.
(i) Rato of number of teeth m a dnven wheel to | ( ! |
W D Frichon
the number of teeth mn dnving wheel
y : "heelbarrow,
{iv)  The force that causes an elliciency of a machine | | Wh i

. o ttort
10 be less than 1009, |

+ e | ‘elocity ratio,
(v) It s used o hit heavy weights with the least | G Velocity s

clton J
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Complete cach of the following statements by writing the correct answer in the spac
provided.

o
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.................................

.................................................................
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(1) A force which produces an acceleration of Im/s” in a mass of Ikg is called

Sessssanenas

‘---..';-.‘----q..------.-:-.q-u

(v) The proper term for a light which passes through di

fferent media is..
%) A point just after elastic limit is called

o---n-..----..a-;-.
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SECTION B (50 Murks)

4 () State two conditions for a body to be in equilibnum

i :
{m : iepsiikespaidpns esaBpasbssan RS grmpess nmimssassspsesaess s SRR
(b)  Distinguish between centre of mass and centre of gravily ..o
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(€) A uniform metre rule is balanced horizontally on a knife edge placed 5¢m from B

with a mass of 60g at B. Find the mass of the ruler.

»
s (a) What is energy”
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(b) i pes of
Mention any four types of energy,
()
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() A minbus of mass of one and a hall tonnes is moving with kinetic energy of
300001 What 1s 1ts velocity in Kmh?
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(a)  List down four uses of hydiaulic press.

(b)
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Calculate the pressure at the bottom of the sea water of 52m deep, if the den
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(ol What 1s meant by acueleration”

............... trreneranes

(b) In which case the acceleration 1s said 1o be uniform?

FEtrasEsramnan

iy

(€) A car with a veloonty of 90kmh s unitormly retarded and brought to rest after 10
scconds. Caleulate ity ace cleration
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(b)  Why efficiency of maching s less than 10097 Briefly explain.
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i) Velooity ratio

SECTION C (20 Marks)

9 (a) A water can has three holes punched the first at the bottom, the sccond at the
middle and the third hole almost at the top. If water is filled in the can, how will
the water spurt through the bottom and the top hole? ........................
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() The up of a needle of hypodermic synnge has a cross-sectional area of
1 x 10"m’ If & doctor applies a force of 20 N to a syringe that is connected
1o the needle, what is the pressure exerted at the tip of needle?

(¢) The small piston of hydraulic press has an ared of 3.0 x 10" m’ and the bigger
piston has an area of 2.0 10 m’. The two pistons are in the same level. If the

foree of 120 N is applicd to the small piston, calculate the foree required to be
: w #*W ) _' -piston 10 510p it moving. | ﬂi
PR T

r 3 o e ' 4 M -
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e (o AN o

b = A n s AR

Wal  “ = B R . i, 5 '




sams AP AER AR E I FRDPER

ST R R L

( andidate s L xamunaiion Number..

el ”1‘ wiolid « nfu‘ws)!!l‘

(hi States Ohm's law

(¢) Two resastors of 342 and 6£2 are connected in parallel to a 3V battery.
(1) Draw the schematic diagram
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) Find the effective resastance of the cireut

(i) Calculate the current passing through a 042 resistor






